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Addition - missing addend (sums up to 20)

Grade 2 Addition Worksheet

What number should be added to the first number to make the answer?

D6+ =7 26+ =15
1+ =11 Y93+ =5
2+ =3 63+ =16
N2+ =11 82+ =4
N1+ =2 04 + =13
W1+ =5 123+ =12
135+ =12 W3+ =4
15)2+_=6 16)7+_: 15
17)2+_:5 18)5+_: 19
191+ =28 2001 + =4
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Addition - missing addend (sums up to 20)

Grade 2 Addition Worksheet

What number should be added to the first number to make the answer?

1)6+1_:7 2)6+9_:15
3)1+£:11 4)3+2_:5
5)2+1_:3 6)3+£:16
7)2+9_:1]_ 8)2+2_:4
9)1+l_:2 10)4+9_:13
11)1+4_:5 12)3+9_:12
135+ 7 =12 W3 +1=4
152 +4 =6 167 + 8 =15
17)2+3_:5 18)5+1_:19

1991 + 7 = 8 2001 + 3 =4
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